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HW10 Solutions

At the end of the lecture



Extra Office Hours today

Location might change as there are events today (check piazza)



Quiz 1 review

Solution 1 Solution 2

2f(n) = 2 c*g(n) = (2g(n))c
For any x, y, (2x)y = 2x*y

2f(n) = 2 c*g(n) = (2g(n))c

A re-statement 
of what needs 
to be proven

This argues why the 2nd equality is true



Q1 (a): part 2

Solution 1 Solution 2

This was proven in T/F #4

Not EXACTLY the 
same problem

When re-using, make sure you add 
in whatever “extra” is needed



Q 1(b): part 2

FALSE In class we saw GS runs in O(n2) time

TRUE In class we saw GS is a linear time algorithm

Solution 1

Solution 2

The Q is asking about specific 
inputs and not general inputs

Linear time for GS is 
O(n2)



Some other reminders

Re-use as much as possible (remember Q2 on mid-term 2!)

Review all HWs, recitation notes, piazza T/F Qs, Quizzes

Make sure your references are precise!

If you do everything from 
scratch you will struggle  
for time (but less time 

pressure than mid-terms)



All this and much more…



Remember to bring your UB card



Questions?


